Technician B Information Technology

The correct sequence of HTML tags for starting a webpage 1s

(a)
(b)
(c)
(d)

Head, Title, HTML, body
HTML, Body, Title, Head
HTML, Title, Head, Body
HTML, Head, Title, Body



TP 39U URH B & AU HTML 11 T TEt S T BT
(@) Head, Title, HTML, body
(b) HTML, Body, Title, Head
(c) HTML, Title, Head, Body
(d) HTML, Head, Title, Body

How do we write comments in HTML?

@ </...... 2
b)) <!..>
(€) @ouls
(d) <. 1>
g9 HTML ¥ fewgforT fg U 3 foad &2
(@ </...>
(b) <l...>
© </...>
(]  Eae ks



Which of the following represents grey colour in terms of RGB values?
(a) (100,100,100)

(b) (122,122,122)

(¢) (200,200,200)

(d)  All of the above

RGB ATHI & Toy # Fgferfad & O o1 widh 31 & ugiRid & a7

a) (100,100,100)
b) (122,122,122)
c) (200,200,200)

dy Iugad gt

(
(
(
(

In a digital image, what does the alpha value of ‘0’ represent?
(a) 100% opaque

(b)  100% transparent

(c) 50% contrast

(d) 100% contrast



o foforea Bfa T 31T &7 0 T T UeiRid & dr 82
(@) 100% SORGI

(b) 100% URGR
() 50% [dua
d) 100% fauarg

Which of the following colours contain equal amounts of RBG?
(a) White

(b) Grey

(c) Black

(d)  All of the above



Fofafad § @ 98 7 ° RRG & 99 A1 Afgd gidl 82

(@) g

b) U

(c) Il

d) Sugad gt

Choose the correct HTML tag to make a text bold.
(a) <bd>

(b)  <bold>
(c) <bl>
@ <b>

ot ¢ &l dicg B & U WEI HTML 27T HIH-91 82

(@) <bd>
(b) <bold>
(c) <bl>
(d) <b>



The HTML tags are
(a) Inlower case
(b)  In upper case
(c) Case sensitive

(d) Not case sensitive

HTMLZST____ Bld g
() Bl 3HeR H

(b) HiUcd feRH
© 9 drafeg

d) Hg Iffeq 73t

How many ASEﬁII characters can be written in 20 kilobyte of memory?
(a) 20

(b) 20000

(c) 20480

(d) 20960



20 fheiarge BURl § fhas Ascll Hdex fod &1 Tahd 82

(@ 20

(b) 20000
(c) 20480
(d) 20960

Which kind of battery is used by current laptops?
(a) Lithium-ion

(b) Lead acid

(c)  Nickel metal hydride

(d) Ni-Cd

IAU 9T & dUeid H Y UbHR I 9t SUINT B Sildl 82
(@) Tafgw-sma

(b) dils TS

() fodurgsHgEs

d) Fed ssima



(75)decimat + (1010 011 1)pinary = ( )hex.
(a) B2

(b) FA

(¢) EF2

(d) AD

75)zzmem + (1010 0111 yaqr=dt = ( Jew
a) B2
b) FA
c F2
d) AD

— e — —

In 16-bit signed integer hex number system, -100 1s represented as
(a) FFo4
(b) FEO00
(c) FFOC
(d) 009C



16-bit signed integer hex &R YUl &, -100 &I fog UHR UalRia fear
ST 87

(a) FF64
(b) FEOO
() FF9C
(d) 009C

What is the size of A3 paper?
(a) 420x 297 mm
(b) 420x 210 mm
(¢) 210x297 mm
(d) 148 x210 mm

A3 TR BT 3R TSIl 22

(@) 420x297 mm
(b) 420 x210 mm
(c) 210x297 mm
(d) 148 x210 mm



Which technology 1s used in laser printer?
(a)  Electrostatic charge built up

(b)  Spraying fine ink drops by laser rays
(c) Heating of toner by laser rays

(d) None of the above

AR fiex & 9 Ot dfHo! &1 IURT fovar S 82

(a) 3odel-Efcdh HTAR B STHGS

(b) TR fBROT gRT WE! & YeH ol &1 [sdbIa
(c) <iOR fH N gRI TR &1 ISHIHRUI

(d) Iuded # Y Bl 7ol

In the CMYK colour model, how can red colour be represented?
(a) (100%, 100%, 0%, 0%)
(b) (0%, 100%, 100%, 0%)
(c) (100%, 0%, 100%, 0%)
(d) (0%, 0%, 100%, 100%)
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(@) (100%, 100%, 0%, 0%)
(b) (0%, 100%, 100%, 0%)
() (100%, 0%, 100%, 0%)
(d) (0%, 0%, 100%, 100%)

RGB true colour model has colour depth of

(a) 24 Bit
(b) 32 Bit
(c) 64 Bit
(d) 128 Bit

RGB T HeR Hisd ! dheR TTevlg fava-l gl o7

(a) 24 Bit
(b) 32 Bit
(c) 64 Bit

(d) 128 Bit



CMYK true colour model has colour depth.
(a) 24 Bit

(b) 32 Bit
(c) 64 Bit
(d) 128 Bit

CMYK  HeR HIsd ®I HeR TeXlg fdan! sl 87

(a) 24 Bit
(b) 32 Bit
(c) 64 Bit
(d) 128 Bit

Which of the following is Wi-Fi standard?
(a) IEEE 802.11

(b) IEEE 802.15

(c) IEEE 802.154

(d) IEEE 802.16



gfefed & 9 wWi-Fi IS $IH-91 27
a) IEEE 802.11
b)  IEEE 802.15

c) IEEE802.154
d) IEEE 802.16

S — — —

JPEG stands for

(a)  Joint photographic embedded group
(b)  Joint photographic extended group
(c)  Joint photographic experts group
(d)  Joint picture embedded graphics



DNS server 1s used for

(a)  To translate domain name to IP address only

(b) To translate domain name to IP address and vice versa
(c)  To translate IP address to domain name only

(d) To translate domain name to MAC ID

DNS Ha3 &1 W forafere fosar smar 82

(a) ST AH & Had IP TsY H 9ga & |

(b) ST A I P TgY qYl fquRida: daeq & (o]
() IPUSY P! Had ST AH H dga- & ol

(d) SHF M ®I MAC ID H 9aa- & o



URL is an acronym for

(a)  Unified resource locator
(b) Universal resource locator
(¢)  Uniform resource link

(d) Uniform resource locator

URL T OT 919 &1 62

Wireless mouse communicates at

(a) 24 MHz
(b) 240 MHz
(c) 2.4GHz

(d) 24 GHz

frequency.



(a) 24 MHz
(b) 240 MHz
(¢ 24GHz
(d) 24 GHz

How fast can CAT 6 cable transfer data?
(@) Uptol Gbps

(b) Upto 3 Gbps

(c) Upto 10 Gbps

(d) Up to 30 Gbps

CAT 6 Had (Y & J Sl B THR B Pl 67

(@) 1 Gbps dd
(b) 3 Gbps d&®
(c) 10 Gbps d&
(d) 30 Gbps d&



Which of the following is not an OS?
(a) Lmux

(b) RTOS

(c) BIOS

(d) Unix

frafiRad @ oar os e &7
(a)  Linux
(b) RTOS
(c) BIOS
(d) Unix

Which of the following is not a programming language?
(a) SQL

(b) C

(c) Python

(d) Java
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(a) SQL
(b) C

(c) UIIYd
(d) SIdl

How many memory chips with 10 address lines and 4 data lines will be required

to realize 8 kbyte FIFO?
(a) 8

(b) 16

(c) 32

(d) o4

8 kbyte FIFO dUR @R+ & AT 10 TgH A8 3R 4 Sl A8 arall fdvam
TERT e =nfge?

(@) 8

b) 16
() 32
d) 64



Which of the following boolean expression is not true?
(a) AA=0

(b) A+1=A

(c) A+A=1

(d) AA=A

fafafed o 9 SH-9 gferaq fiafad el 7ol 67
(@) AA=0

(by A+1=A
€0 A+A=1
d) AA=A



Which one of the following is equivalent to the boolean expression

Y =AB+BC+ CA

(a) AB+BC+CA

b) (A+B)(B+C)(C+A)
(c) (A+B)(B+C)(C+A)
(d A+B)(B+C)(C+A)

Profeled § 3 St afiieafdd sfer aftreafag Y = AB+BC+CA
& U g7

(a AB+BC+CA

) (A+B)(B+C)(C+A)

(c) (A+B)(B+C)(C+A)
d @@A+B)(B+C)(C+A)

A file deleted from the will be deleted permanently without having it

moved to the Recycle Bin.
(a) Desktop

(b) Local drive

(c) Network drive

(d) Public folder



T feofie &1 75 T wgd ued foa & 99 fom & wrl =u 9
f&aiie g SrE|
(@) S%pcid
(b) TiHd S2d
() +cdm gIad
(

d) Ufsd®d BiesT

One terabit of memory is equalto
(a) 1024Kb

(b) 1024 x 1024 Kb

(¢) 1024 x 1024 x 1024 Kb

(d) 1024 x 1024 x 1024 Mb



Th e BAR P R et gl

(@ 1024 Kb

(b) 1024 x 1024 Kb

() 1024 x 1024 x 1024 Kb
(d) 1024 x 1024 x 1024 Mb

When a computer is booting, BIOS is loaded to memory from

(a) RAM

(b) ROM
(c) SSD
(d) HDD

HUER 5d §¢ B 391 8Idl 5, Al BIOS B AURI § gl ¥ dls fhar SIral g2

(a) RAM
(b) ROM
() SSD

(d) HDD



Which one of the following numbers is the largest?
(a) 2E @mex

(b) 40 (Decimal)

(c) 11110 (Binary

(d) 34 (octan

Fafafed ¥ 9 ®F-91 Har 99Y 981 52

@  2F (Hex

(b) 40 pecimay
(c) 11110 @inary)
(d) 34 octan

What is the core of the Linux operating system?
(a) Terminal

(b) Kernel

(¢) Command

(d) Thread



Linux TR RReT &1 $R T 82

(@) <HAd
(b) HAd
() HHS
d) IS
What does GNU stand for?

(a) GNU's Not Unix
(b)  General Need Unix
(c)  General Native Unix

(d) General Noble Unix

GNU &1 TRT TH &1 82

(@) GNU's Not Unix

(b) General Need Unix

(c) General Native Unix
(d) General Noble Unix



By which of the following, information may be leaked from a secured
organisation?

(a)  Social media

(b) Dongle

(c) Pendrive

(d) All of the Above

frafaRad # ¥ o1 U QRIET IR T I 6 i R Ihdl 87
(a) e Hifsar

(b) i

(c)

(

ERICIES]
d) Sugad gt

Which of the foilowing 1s done 1n a data encryption standard?
(a) Block cipher

(b)  Stream cipher

(c) Bit cipher

(d) Byte cipher
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(a) ilh WISH
(b) EHIEER
() fdcHRW
(d) dTgc AW

Which of the following is data encryption standard?

(a) AES 192

(b) DES 168

(c) Blowtfish 446
(d) All of the above

Fufafed & 9 w1 Sa1 u<huse &1 9F® 27
a) AES 192
b) DES 168

(
(
(c) Blowfish 446
(

d) Iuged gl



A digital signature needs

(a)
(b)
(c)
(d)

Symmetric key
Asymmetric key
Water marking

biometrics

fefSred g=aer & fou o1 erawgs glar g2

(a)
(b)
(c)
(d)

femfee pofl
TRAfeeD Poil
diex gifdbm
Tamea

Which of the following prefixes are in descending order?

peta, deca, deci, nano
peta, deca, nano, deci
deca, nano, deci, peta

peta, deci, deca, nano
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a) peta, deca, deci, nano
b) peta, deca, nano, deci
c) deca, nano, deci, peta
d) peta, deci, deca, nano

The 2' compliment of 8-bit binary number 1100 is
(a) 11110100

(b) 11111101

(c) 0100

(d) 1001

8-bit AT-RT HER 1100 BT 2' BIRHE HIT 27
@ 11110100

() 11111101

(©) 0100

d) 1001

W



Which of the following is not a basic data type in C language?
(a) float

(b) int
(c) real
(d) char

¢ daw § Rgfafaa 5 8 o1 e S UeR 81 82

(a) float
(b) int
(c) real
(d) char

Which of the following datatype or operator is supported in C language?
(a)  struct

(b)) -

(c) record

(d) All of the above
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(a) struct

(b) -

() record

(d) Iugad T

PHP stands for

(a) Hypertext Preprocessor
(b)  Pre Hypertext processor
(c)  Pure High language Processor

(d) Power Hypertext Processor

PHP &7 31 T 872

(@) BUWCHRS WUHER
(b) U SR RE YR
() TR EE AU TR
(d) ok BUURCRS YR



Which of the following communication technology is used for IOT?
(a) Zigbee

(b) 5G

(c) RFID

(d) All of the above

10T & fore Fufafaa § 9 -3 =R Wit &1 ganT fear | 82

(a) Zigbee

(b) 5G

(c) RFID

(d) Sugad gt

Which of the following search engine is based on AI?
(a) Chat GPT

(b) Bard

(c) Neeva

(d)  All of the above



fAufaRed & O -9 9= 359 Al TR snutfd &2

(a) e oidre
b) TS

() HdI

(d) Suge FHi

Which of the following is a type of Machine Learning?
(a) Deep learning
(b)  Unsupervised learning

(c) Reinforcement learning

(d)  All of the above

frafead & 9 our g=i= a1 &1 UeR 82
(@) SgdET

(b) SFYIRAESS AT

(€ I HIgHE AT

(d) Suga gt



What types of protocols are used in VPN?

(a)
(b)
(c)
(d)

Application level protocol
Physical level protocol
Network protocol

Mailing protocol

VPN ¥ g UbR & Weidid T UaNT b Sirar g2

UfIh e oad Ulcldid
fopfSiehel diael Uicidlel
Aedd UIebid
EISURCICCAK]



RIPng stands for

(a)
(b)
(c)
(d)

Routing information Path Next Generation
Routing information Protocol New generation
Routing information protocol Next Gateway

Routing mformation protocol Next generation

RIPng T &1 34 BIdT B2

a)
b)
c)

(
(
(
(d)

T[T TTHIHIE U1 AdE SRYH
T SHRURE Wictdld g SRR
T[T FHIHYE Uleidpid Hae Ted
T[T FHIHYE UleiPpId Ao SRS

What 1s the length of the IPv4 address?

(a)
(b)
(c)
(d)

16 bit
32 bit
64 bit
128 bit



IPv4 TS o foe &1 gidT 87

(@) 16 bit
(b) 32 bt
(c) 64 bit
(d) 128 bit

The configuration wherein any computer can directly communicate with any
other computer in the network is called

(a) Ring topology

(b)  Mesh topology

(c)  Star topology

(d) Bus topology

U, ford T dger WY dR IR Acad | [l Ht o iger o Wiy
U PR Yol g, GG

(@) 7 caaret
(b) Aol
() R st
(d) &9 gt



What is the function of network interface card?

(a) Connects clients, servers and peripherals to the network through a port
(b) To segment a large network into smaller, efficient networks

(c) Connects network with different protocols like TCP/IP

(d) Boost the signal between two wireless access points

ICdD S Y BTS BT B T gl 87

(@) Uic & AT Y galse, Ya3 3R UGN IUH0N Bl Aedd o el
(b) TS Acdd Pl BIc, UHTII Aedh! H faHTioTd BT

() TCP/IP oY fAfiT Ulcididl ¥ Acdd &l dH-de Bl

(d) o IReY ST fogafl & ofie RIUe &1 ¥ Bl

Which of the following language 1s most efficient for real time operation?
(a) Java

(b) C++t

(c)  Assembly language

(d) Python



Jrfds BId Gara- & for fRufaiead § € oF-8 das gaiits uyrdt 82

(a) oIIdl

(b) C++

(c) SrHdel ovaa
d) OraYd

is a high speed storage element present in ALU of microprocessors?
(a) DRAM

(b) Counter

(c) ROM

(d) Register

TSR & ALU § RYUd 818 Wie WS 9@ g
(a) DRAM
(b) PR
(c) ROM
(



Which of the following operation is not available in DBMS?
(a)  Filter

(®)  Query

(c) Sorting

(d) Data encryption

fFoafalRad § T &9-91 U=Ia- DBMS B Iudsy Tl 87

(@) Theex
(b) Query
(c) i
(d) Sel U=hEH



The propagation of light in optical fiber 1s due to

(a) linear propagation along axis
(b) total internal reflection
(c)  scattering

(d) total internal refraction

DB BIEaR T YhHT BT F=RUl fhy YbR BIdl &7
(@) 318 & Ty TG HERT

(b) H MNP TRTGc

() UPIUH

(d) & ARk Uaa—

Which of the following memory has the shortest access tume?
(@) Virtual memory

(b)  Secondary memory

(c) Cache memory

(d) DRAM



frafated o 9 fog 208 &1 e I9g 999 &4 3id1 57

(a) T3 BHORY
b) Thsd HAR
() HYUHART

(d) DRAM

XML stands for

(a) Extended Markup Language
(b)  Excellent Markup Language
(c) Extended Marking Links
(d) Extra Markup Language



What does a cookie do?

(a)  Stores password of user

(b)  Stores software modules accessed by user
(c)  Stores information about user’s web activity

(d) Stores advertisements shown to user

B! T HAT 52

(@) SUANTHd BT UHdS ©R Hdl 8|

(b) JYANTHAl gRT AT fhT 77T WeddR Gicll I TR Bl o
() IUUNTH P a9 Mafaferl & IR & Ya ©R HRal gl

(d) SUINTHdl &I [GWE 7T o9 & TR Hdl gl

Which of the following domain is generally used by non-profit entities?

(a) .com
(b) .n
(c) .org

(d np
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(a) .com
(b) .in
() .org
(d) .np

What is the use of Ping command?

(a) To know network speed

(b) To test if a host on the network 1s reachable
(c) To test storage device

(d) To test the network reliability

Ping HHIS P 30T IUTNT BIdT &7
(a) cdm ®i ITd BT gal Tl
b) Fcdd R [l e B SUTSAT Bl SI1g BT

(
(©) TR IUDHI I SAd BT
(d) Hcdm oI [AYI-ITd B A" HIAT

1]




SCSI interface isused for
(a) To connect modem

(b)  To connect storage device
(c)  To connect monitor

(d) To connect multimedia equipment

SCS| JRTBeD UG BT 8|

(@) HisH BISsH & fog

(b) TR gfad &I e & forg

() WM I Sed & fou

(d) HAIHITSTT IUSHUN Bl Sirg & forg

What 1s SMTP?

(a)  Simple Mail Transfer Protocol
(b)  Server Mail Transfer Protocol
(c)  Service Mail Transport Protocol

(d)  Simple Mail Transport Protocol



SMTP &1 87

(a) RiUd Od e Uicdpid
(b) ax Ud TRBR UcidbId
(¢ 9idy Ad cIIC eidid
(d) TRiud Od gidic wieidbia

The main difference between SNMPv3 and SNMPv21s
(a) Management

(b) Integration

(c) Classification

(d) Enhanced security

SNMPv3 3R SNMPv2 & &1 &1 T30 3R F1 82

(a) UdYT
(b) THBAT
() diifpul
(

d) Hafdd QRar



An oscilloscope cannot be used for the measurement of
(a) Voltage

(b) Waveform shape

(c) Frequency

(d) Power

U SNTRIRn gRT b =TeT /1T o Yaball 82
(a) diced

(b) TYTREY B HTHR

() 3fafd
(

d) Hid®



12 V, 36 AH battery 1s supplying 3 A current. How long will it last on full charge?
(a) 1 hour

(b) 3 hour

(c) 12 hour

(d) 36 hour

TH 12V, 36 Aﬂ%ﬁﬂﬁ&:“re{r{ﬁmﬁ%lwﬁ =TSl B o1 IR T8
ot R Bl Bl

(@) 1d9dl
(b) 34e

() 127%¢e
(d) 367%c

Which one of the following 1s not true for the Linux?
(a)  Uses a tree-like hierarchical file system
(b)  File naming is case sensitive

(c) Itis an open source operating system

(d) Uses different data drives like C.D.E etc.



Linux %Wﬁ?ﬁl@ﬁﬁ@ﬂﬂﬁﬂﬁ%”

(@) J&-SIYl UarIshH Wl YUITC! B SUTR Hl 6 |
(b) HISH ATHGRU HY Yfed g

() T8 Auq I SR Rer 51

(d) C,DE e S fafts Se1 Sgal &1 Iuai Hdl 6 |

Which command in vi editor is used for copying a line?

(a) ctrt+c
(b) cp
() vy

(d) dd

vi editor H forg ®HIS §RT TS TT5H BIUT DI STdl 82
(a) ctr+c

(b) cp
© vy
(d) dd



Which command is used to check the list of running processes in Linux?

(@) ps
(b)  grep
(c) cat
(d) Is

Linux@ﬁ?ﬁﬂm&ﬁﬁﬂﬁﬁﬁﬂﬁﬁmﬁ%ﬁqﬁqmmww
ST 87

@ ps
(b) grep
(c) cat
(d) Is

Which i1s the correct Unix command to set file permission to ‘rwxr-x—x’?
(a) chmod 751 <filename>
(b) chmod 753 <filename>
(c) chmod 741 <filename>

(d) chmod 754 <filename>



BTed TRIHRA B ‘rwxr-x—x' F&Ga- & AT Unix $HIS BIH-91 87
(@) chmod 751 <filename>
(b) chmod 753 <filename>
(c) chmod 741 <filename>
(d) chmod 754 <filename>

How many electrons will constitute 2 Coulomb of electric charge?

(a) 6.24x 1018 electrons
(b) 12.5x 1018 electrons
(c) 1.6x1019 electrons
(d) 3.204x 1019 electrons

fd saae A fHa®x 2 Hod saiaed T SI?
(@) 6.24 x 10" SAdEH

(b) 12.5x 10" SiaS A

(©) 1.6 x 10" FaaaA

(d) 3.204 x 10" SdagA



What is the equivalent capacitance of the given circuit?

Consider C1=2F, C2=2F, C3=6F, C4=6F  o—1~
(@) 7F S
(b 13F c3 ca
(¢) 43F
(d) 16F €2 o—
O T 4
&1 T2 githe ot gAqey U1Rkar fa 82

HH IfT C1=2F, C2=2F, C3=6F, C4=6F

@) 7F ‘:l 1 ]
(b) 13F
() 4.3F c3 c4
d) 16F
A




Which of the following logic gate is known as universal gate?

(a) XOR

(b) OR
(c) NOT
(d) NOR

FafaRed d O SH-91 di® i gHaad T & A1 J ST Sl 87

(a) XOR

(b) OR

(c) NOT

(d) NOR
(43)hex=
(a) (125)s
(b) (127)s
©) (103)s

(d) (301)s



In the following circuit, if A = 0 and B = 1 then what will be the values of Y and

Z?
(a)
(b)
(c)
(d)

¥, 40
¥Y=1, 70
- 2]
¥=1,7Z~1

o2 >0

D

=

>

R ca@muafdecd afdA=03RB =12 Y 3R Z 1 TH T

Y=0, Z=0
Y=1,Z=0
Y=0, Z=1
Y=1, Z=1

o)

am’s

}

— D>



The Boolean expression for the following circuit is

(@) AB+C) .

(b) A+BC A
(c) A+B

(d) A+B+C

Fafafea afthe @t gfeam siftreafaa o gt
a) A(B+QC) B
b) A+BC A

c) A+B

(
(
(
(d) A+B+C




What is resolution of a 12-bit angular encoder?

(a)
(b)
(c)
(d)

0.088°
0.176°
4096
30°

12-bit HIUIY ThISX B f[aHeH a1 gRT?

(@) 0.088°

(b) 0.176°

(c) 4096

(d) 30°

MOSFET works like linear region.
(a) Current controlled current source

(b)  Voltage controlled current source

(c)  Current controlled voltage source

(d) Voltage controlled voltage source



G &3 T MOSFET fhd UBR &1 Bl 82
(a) e MARAd die Hid

(b) dicedl FAfRd ®ic 9id

(©) e IR dicear 9d

(d) dliecdr AU dieedr Hid

A transistor has current gam of 0.99 in common base mode. What will be its

current gain in common emitter mode?

(a) 100
b) 99

(c) 1.01
(d 0.99

DI 39 A8 § Us i § 0,99 &1 Hic afel il 31 ST Tfiex A8
T 3d! HIc afsd fd-t grfle

(@) 100
(b) 99

() 1.01
(d) 0.99



For a transistor, current ratio of IC/IB is called
(a) Dbeta

(b) alpha

(c)  Saturation ratio

(d) Cut-off ratio

TR & feTT IC/IB BT HRE A el SIidl 87
(a) e

(b)  SHTETHT

() HHRTA U

(

d) He-3Mt%h U



number of duplex links are required to connect six computers in mesh

topology.

(a) A.6

(b) B.12
(c) C.15
(d) D.30

HY Ul H 6 PRI Bl Sig & forg gt foleh amawass g1

(@) 6

(b) 12
(¢ 15
(d) 30

A device that transforms baseband signals to a suitable form for transmission over
mediais called

(a) Switch

(b) Router

(c) Gateway

(d) Modem
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(a) =
(b) XI3cX
(c) Ted
d) HISH

What will be output of the following program?
#include <stdio.h>
int main()
{ int r; float a; r = 2; a = 3.14*(float)r™(float)r; printf(“%d”, (int)a);}
(a) 12
(by 13
(c) 12.56
(d) 12.560000



fFafoiRed T &1 r3eyge &1 gm?
#include <stdio.h>
int main()

{intr; float a; r = 2; a = 3.14*(float)r*(float)r; printf("%d", (int)a);}

(@) 12

(b) 13

() 12.56

(d) 12.560000

Which of the following malware self-replicates and propagates independently as
soon as it has breached a system?

(a) Worm

(b)  Trojan horse

(c) Boot sector virus

(d) Virus



fafafed ¥ ¥ $H-91 Aada Yunel &1 Yed & [ad @l Ukdepd dd
WA U ¥ Yo &Rl 87

(@) dH

(b) CreHEH

() FC I da’RY
(d) dRRE

Which one of the following statement is true?
(a) MTBF=MTTF + MTTR
(b) MTTF =MTBF + MTTR
(¢) MTTR=MTBF + MTTF
(d) MTBF=MTTF * MTTR

fFufefed 7 @ o991 Y= U8l 82

(@) MTBF = MTTF + MTTR
(b) MTTF = MTBF + MTTR
(¢ MTTR = MTBF + MTTF
(d) MTBF = MTTF * MTTR
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Whjch of ;he fOl]O{;i'Ilg 1s an intrusion detection software?
(a) Honeypot

(b) Anti-virus

(¢) Trojan horse

(d)  Authentication

Fafaied & ¥ ®F 91 sfddys Y9ad 9itediR 87
(a) B

(b) GCI-aRRH

(@ TN

d) efdfeheE

How i1s a reading of 2.5245 V displayed in 10 V range in a 3% digit multi-meter?
(a) 2.5245

(b) 2.524

(c) 252

(d 25



gffﬁ%ﬁﬁnﬁiﬂaﬁmvﬁﬁﬁz.szﬁ v &t ST FY R uelia
?

(@) 2.5245
(b) 2.524
(e 252
d) 25

A work station draws 1.2 amperes from 240 volts mains. How many units of

energy will be consumed in one hour and 15 minutes?

(a) 0.3312
(b) 0.36
(c) 0.6

d 0.72



Wﬁ%@?ﬁyfo volts A= & 1.2 amperes @'?IFIT%I Udh HcT 15 fafie o
fea gie fasiel &t wud e

(@) 0.3312
(b) 0.36
(¢ 0.6

(d) 0.72

‘What 1s ASCII code for <0°?

(a) 300
(b) 400
(c) 50H
(d) 60H

'0' & foTT Ascll s T 87

(a) 30H
(b) 40H
(c) 50H
(

d) 60H



Which of the following protocol provides low latency connection over a network?

(a) UDP

(b) HTTP
() TCP
(d TP

w?&mmﬁﬁﬁmmmmﬂuﬁmm
HIAT 22

(@) UDP
(b) HTTP
() TCP
(d) IP

Bench marking of a work-station is done in

(a) MFLOP/s
(b)  Mbit/s
(c) MHz

(d) MVA



dh I BT aI /fbT A Hd gl

(a) MFLOP/s
(b) Mbit/s
(c) MHz

(d) MVA

Which of the following is not carried out during software testing cycle?
(a) Requirement analysis

(b)  Test case design

(c)  Test environment setup

(d)  Software bug correction

G ddR Siid = & QIR HgfaRad d ¥ o7 ol [hdl SIidl 87



RJ45 UTP cable has number of wires.

(a) 4
(b) o6
(c) 8
d 10

RI5UTP P H IR gl

(@) 4
(b) 6
(@ 8
(d) 10



Which of the following function is not generally available in a spreadsheet
processing software?

(a) Filter

(b)  Graph

(c) Formula

(d) Animation

Weiic Ui ggeadmR # Fufefed & O o997 hawe 3HAR ™R
IUA el Bldl 87

Which of the following function is not available in a presentation software?
(a) Slide show

(b) Hyperlink

(c) Formula

(d) Animation
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(a) igS M
(b) BHAURfe®
() ‘ﬁtkﬂ

(d) ufHERE

Which of the following function 1s generally not available in a word processing

software?

(a) Encrypt file

(b)  Equation solving
(c) Watermarking
(d)  Section break

T$h ds UNORAT Oitcaqy H FHied # 9 oF-91 BaRH 3HAR IR
IucTs T8t gidl 87

(a) TARhE BIEA

(b) THIHIU HT 8 FHTa
(c) dleIHIBIT

d) TRATD



Which of the following function is generally available in a professional pdf editer

software?

(a)  Highhghter

(b)  Optical character recognition
(c
(d) All of the above

S

Digital signature

MHIET pdf TSR ioedm® & FEfed & ¥ SH-I1 BaRF SMHAR R
I BIdT 82

(a) ®ILCReY

(b) 3AMPHT Hidex Ug=H
© Tefioeasmer

(d) Soged qoft



Which of the following utility program is used to combine multiple executable

files?

(a) Compiler

(d) Assembler

What is BCD code for decimal 429?
(a) 01000010 1001

(b) 110101101

(c) 1AD

(d) 655



TR 429 & U BCD I R &2
(@) 01000010 1001

(b) 110101101
(¢ 1AD
(d) 655

What is decimal value of binary 1011.01?
(a) 11.25

(b) 115
() 11.01
(d 11.0125

AT 1011.01 1 SYHAG H A9 71 8ldT 872

(@) 11.25
(b) 115
() 11.01

(d) 11.0125



Which i1s true from the following if wire gauge is increased from 22 to 26 AWG?
(a) Resistivity will increase

(b) Resistance will increase

(c)  Cross-section area will increase

(d) Conductance will increase

gfe IR T &l 22 F FETHR 26 AWG &R fedl 9g, df gfaRaa § 9 aun
gl gI?

(@) UfRIYDGdr gl

(b) Uiy deTm

() TR & FeM

(d) VaTEHdr gght

SSD stores data using
(a) Flash memory
(b) RAM

(c) Magnetism

(d) Low powered laser beam
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(a) TRl HHRT
(b) RAM

(c) TufesH
(d) 3T UraR doR &9






